
SENTENCE TRANSFORMATIONS 12 

 

 

Complete the second sentence using the word in brackets so that it has the same meaning as the first one. 

 

1 I don't have enough money to pay this bill.  

I ______________________________________________________________________________. (TOO) 

 

2 It is too dangerous for you to stay here.  

It __________________________________________________________________________. (ENOUGH) 

 

3 This rope isn't long enough.  

This rope _____________________________________________________________________. (SHORT) 

 

4 It isn't cheap enough for me to buy.  

It _____________________________________________________________________________ (TOO). 

 

5 This grass is too wet to sit on.  

This grass ______________________________________________________________________. (NOT) 

 

6 You don't get enough exercise.  

You ___________________________________________________________________________. (LITTLE) 

 

7 You don't drink enough water.  

You ___________________________________________________________________________. (TOO) 

 

8 The road is too narrow for cars.  

The road _____________________________________________________________________. (ENOUGH) 

 

9 Tom didn't do enough research.  

Tom __________________________________________________________________________. (LITTLE) 

 

10 Mary is too weak to look after herself.  

Mary __________________________________________________________________________. (NOT) 

 

11 Our apartment is too small. 

Our apartment __________________________________________________________________. (LARGE) 

 

12 This place is too noisy for me.  

This place ______________________________________________________________________. (QUIET) 

 

13 She didn't run fast enough to catch the bus.  

She ____________________________________________________________________________. (TOO) 

 

14 We don't have enough rabbits. 

We ____________________________________________________________________________. (TOO) 

 

15 Tom is too weak to work. 

 Tom ________________________________________________________________________ (STRONG). 
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1 I don't have enough money to pay this bill.  

I HAVE TOO LITTLE MONEY TO PAY THIS BILL. 

 

2 It is too dangerous for you to stay here.  

It ISN'T SAFE ENOUGH FOR YOU TO STAY HERE. 

 

3 This rope isn't long enough.  

This rope IS TOO SHORT. 

 

4 It isn't cheap enough for me to buy.  

It IS TOO EXPENSIVE FOR ME TO BUY. 

 

5 This grass is too wet to sit on.  

This grass ISN'T DRY ENOUGH TO SIT ON. 

 

6 You don't get enough exercise. 

You GET TOO LITTLE EXERCISE. 

 

7 You don't drink enough water.  

You DRINK TOO LITTLE WATER. 

 

8 The road is too narrow for cars.  

The road ISN'T WIDE ENOUGH FOR CARS. 

 

9 Tom didn't do enough research.  

Tom DID TOO LITTLE RESEARCH. 

 

10 Mary is too weak to look after herself. 

Mary ISN'T STRONG ENOUGH TO LOOK AFTER HERSELF. 

 

11 Our apartment is too small. 

Our apartment ISN'T LARGE ENOUGH. 

 

12 This place is too noisy for me. 

This place ISN'T QUIET ENOUGH FOR ME. 

 

13 She didn't run fast enough to catch the bus.  

She RAN TOO SLOWLY TO CATCH THE BUS. 

 

14 We don't have enough rabbits. 

We HAVE TOO FEW RABBITS. 

 

15 Tom is too weak to work. 

 Tom ISN'T STRONG ENOUGH TO WORK. 

 
 


